## **REVISED - BID FORM**

(UNIT PRICE)

The undersigned, in compliance with the Invitation for Bid and Instructions to Bidders for Concrete Services IDIQ, for the City of Seguin, having examined the Project details and Specifications; hereby proposes to furnish all labor, permits, material, machinery, tools, supplies, equipment, and incidentals, and to perform all Work required for construction of the Projects in accordance with the Project Details and Specifications within the time indicated.

The Bidder will enter the line item subtotal in the "Amount" column below, which is the product of the estimated "Quantity" multiplied by the "Unit Price". Any mathematical errors will be corrected for the purpose of determining the correct Amount to be entered in the Bid Form. The Amounts, including any corrected Amounts, will then be totaled to determine the actual amount of the Bid. The items listed in this Bid Form are the items of work that will be measured for payment.

Bidder agrees to perform all other items specified in the technical specifications and in these Bidding and Contract Documents, all work incidental to the specified items, and all work which may be reasonably inferred from the Contract Documents for the construction of the completed Project at no additional cost to the Owner. The following items of work are required to be performed but will not be measured for payment:

## **Bid Schedule**

(NOTE: Legibly print or write unit and lump sum prices in words and figures for each item in this bid, and in the event of discrepancy, the words will control):

Item	Spec.	Est. Qty	Unit			
No.	Reference			Unit Description	Unit Price	Unit Total
1	500S	10	WO	MOBILIZATION for: Six Hundred Seventy- Five dollars And Sixty Eight cents per Work Order.	\$675.68	\$6,757.75

2	104S	4,000	SY	REMOVE MISCELLANEOUS CONCRETE at (4-inch thick) for: Forty-Nine Dollars and Fourteen Cents per SY.	\$ <u>49.14</u>	\$ <u>196,560.00</u>
3	334S	20	SY	ASPHALT PATCH or REPAIR (2.5 inch thickness) for:  Seven Hundred Ninety-Eight  Dollars and  Fifty-Three Cents per SY.	\$ <u>798.53</u>	\$ <u>15,971.50</u>
4	423S	100	CY	CAST-IN-PLACE CONCRETE. RETAINING WALLS (up to 4' height) for:  One Thousand Two Hundred Twenty-Eight Dollars and Fifty Cents per SF.	\$ <u>1,228.50</u>	\$ <u>122,850.00</u>
5	529S	1,000	LF	CONCRETE CURB AND GUTTER for:  Fifty-Eight Dollars and Ninety Seven Per LF.	\$ <u>58.97</u>	\$ <u>58,968.00</u>
6	529S	200	LF	CONCRETE LAYDOWN CURB for:  Sixty One Dollars and Sixty Three Per LF.	\$ <u>61.63</u>	\$ <u>12,326.77</u>

7	531S	20,000	SF	NEW CONCRETE SIDEWALK, 4 inch thickness for:  Eleven Dollars and Sixty Seven per SF.  Cents	\$ <u>11.67</u>	\$ <u>233,415.00</u>
8	531S	2,000	SF	RECONSTRUCT CONCRETE SIDEWALK, 4 inch thickness for:  Eleven Dollars and Sixty Seven per SF.	\$ <u>11.67</u>	\$ <u>23,341.50</u>
9	531S	25	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE I) for:  One Thousand Five Hundred Forty-One Dollars and Seventy Seven Cents per EA.	\$ <u>1,541.77</u>	\$ 38,544.19
10	531S	5	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 2) for:  Two Thousand Seven Hundred Seventy Three Dollars and Ninety Five Cents per EA.	\$ <u>2,773.95</u>	\$ <u>13,869.77</u>

11	531S	2	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 3) for:	\$ <u>3,082.31</u>	\$ <u>6,164.61</u>
				Three Thousand Eighty- Two Dollars and Thirty One per EA.		

	1			T	1	<del></del>
12	531S	2	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 4) for:  Three Thousand Eighty- Two Dollars and Thirty One per EA.	\$3,082.31	\$ <u>6,146.61</u>
13	531S	2	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 5) for:  Three Thousand Eighty- Two Dollars and Thirty One Dents Per EA.	\$3,082.31	\$6,146.61
14	531S	1	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 6) for:  Three Thousand Eighty- Two Dollars and Thirty One Dents Dents Dents Dents Cents Dents De	\$3,082.31	\$6,146.61
15	531S	5	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 7) for:  Three Thousand Eighty- Two Dollars and Thirty One Dents Per EA.	\$3,082.31	\$6,146.61

16	531S	2	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 8) for:  Three Thousand Eighty- Two Dollars and Thirty One Dents De	\$3,082.31	\$6,146.61
17	531S	2	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 9) for:  Three Thousand Eighty- Two Dollars and Thirty One per EA.	\$3,082.31	\$6,146.61
18	531S	5	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 10) for:  Two Thousand Three Hundred Twelve Dollars and Four Pour Dents Dents Dents Cents	\$2,312.04	\$11,560.19
19	531S	1	EA	SIDEWALK CURB RAMP WITH DETECTABLE PLATE (TYPE 11) for:  Three Thousand Four Hundred Sixty Eight Dollars and Six Cents per EA.	\$3,468.06	\$3,468.06

20	654S	50	LF	PEDESTRIAN RAILING for:  One Hundred Seventy Dollars and Twenty Seven Cents per LF.	\$ <u>170.27</u>	\$ <u>8,513.51</u>
21	530S	5,000	SF	RESIDENTIAL CONCRETE DRIVEWAY for: Fourteen Dollars and Twenty Nine per SF. Cents	\$ <u>14.29</u>	\$ <u>71,437.28</u>
22	530S	500	SF	COMMERCIAL CONCRETE DRIVEWAY for: Twenty Two Dollars and Eleven per SF.	\$ <u>22.11</u>	\$ <u>11,056.50</u>
23	536S	40	SF	CONCRETE MEDIANS AND ISLANDS for  Sixty One Dollars and Sixty Three Cents per SF.	\$ <u>61.63</u>	\$ <u>2,465.35</u>
24	420S	10	LF	CONCRETE STEPS for Six Hundred Sixteen Dollars and Forty Two Cents per LF.	\$ <u>616.42</u>	\$ <u>6,164.24</u>
25	529S	1440	SF	CONCRETE VALLEY GUTTERS for Twenty-Nine Dollars and Ninety-Eight	\$ <u>29.98</u>	\$ <u>38,848.12</u>
				Cents per SF.		

26	504S	20	EA	Adjust Water Meters to Grade for:  One Hundred Eighty-Four Dollars and Twenty Eight Cents	\$ <u>184.28</u>	\$ <u>3,685.50</u>
27	504S	20	EA	per EA Adjust Gas Valve Boxes to Grade for: One Hundred Eighty-Four Dollars and Twenty Eight Per EA Cents	\$ <u>184.28</u>	\$ <u>3,685.50</u>
28	504S	20	EA	Adjust Water Valve Boxes to Grade for: One Hundred Eighty-Four Dollars and Twenty Eight Cents per EA	\$ <u>184.28</u>	\$ <u>3,685.50</u>
29	479S	20	EA	Adjust Wastewater Manhole to grade for: Six Hundred Sixteen Dollars and Seventy One Cents per EA	\$ <u>616.71</u>	\$ <u>12,334.14</u>
30	504S	20	EA	Adjust Utility Box to Grade for: One Hundred Eighty-Four Dollars and Twenty Eight Cents per EA	\$ <u>184.28</u>	\$ <u>3,685.50</u>
31	504S	20	EA	Adjust Pull Boxes to Grade for: One Hundred Eighty-Four Dollars and Twenty Eight Per EA	\$ <u>184.28</u>	\$ <u>3,685.50</u>
32	560S	50	EA	Relocate or Remove and Replace Mailbox for:  Four Hundred Forty-Two  Dollars and  Twenty Six Cents  per EA	\$ <u>442.26</u>	\$ <u>22,113.00</u>

33	164S	4,000	SY	NATIVE SEEDING FOR EROSION CONTROL for: Three Dollars and Forty Six Cents per SY	\$ <u>3.46</u>	\$ <u>13,857.48</u>
34	506S	200	CF	STORM INLET SEDIMENT TRAP for: Sixty-Nine dollars and Twenty Nine cents per CF.	\$ <u>69.29</u>	\$ <u>13,857.48</u>
35	169S	1000	SY	SOIL RETENTION BLANKET for:  Ten  Dollars and  Seven Cents  per SY	\$ <u>10.07</u>	\$ <u>10,073.70</u>
36	506S	25	EA	FILTER CURB INLET PROTECTION (EXISTING INLET) for: Four Hundred Eighty-One Dollars and Fifty One Cents per EA	\$ <u>481.57</u>	\$ <u>12,039.30</u>
37	506S	100	LF	ROCK BERM for:  One Hundred Fifty-Three  Dollars and  Fifty Six Cents per LF.	\$ <u>153.56</u>	\$ <u>15,356.25</u>
38	506S	16,000	LF	SILT FENCE for: Five Dollars and Fifty Three per LF. Cents	\$ <u>5.53</u>	\$ <u>88,452.00</u>

39	466S	10	EA	TYPICAL HEADWALL AND ENERGY DISSIPATORS for: Seven Thousand Four Hundred Thirty-Two Dollars and Forty Three Cents per EA	\$ <u>7,432.43</u>	\$ <u>74,324.25</u>
40	467S	8	EA	SAFETY END TREATMENT (CULVERTS) for: Four Thousand Six Hundred Six Dollars and Eighty Eight Per EA	\$ <u>4,606.88</u>	\$ <u>36,855.00</u>
41	432S	1000	SF	CONCRETE RIPRAP for:  Twenty-Three  Dollars and  Twelve  per EA	\$ <u>23.12</u>	\$ <u>23,120.37</u>
41	502S	10	EA	TRAFFIC CONTROL for: Four Thousand Six Hundred Sixty-Eight Dollars and Thirty Cents per EA	\$ <u>4,668.30</u>	\$ <u>46,683.00</u>
42	400S	1000	SY	BACKFILL for: Thirty Four Dollars and Sixty Four Cents per EA	\$ <u>34.64</u>	\$ <u>34,643.70</u>

TOTAL ESTIMATED BID PRICE(WORDS)		
One Million Three Hundred Forty-Seven Thousand Five Hundred	red Sixty-Nine Dollars	and
Seventy-Eight Cents	(\$ <u>1,347,569.78</u>	).

Sullivan Contracting Services - Austin Worthy	
Printed Name of Bidder	

By: Austin Worthy Signature
Signature 0
Austin Worthy
Printed Name
Vice President of Operations - South Texas District
Title
Mailing Address:
2299 Rudeloff Rd.
Street
Seguin, Texas, 78155
City, State, Zip Code
830-372-3812
Telephone

austin@scs-tx.com

Email Address

Date